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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
BV
= 1 212, 195, 727
T e R T
= 1 206, 285, 795
E¥LT
= 1 2,249, 075
R L
= 1 204, 036, 720
SRS (A) A5HA! JRMRERAARR S 40, bm JE
AE 39.5m
e 6 1,914, 640 11, 487, 840
SRS (B) A5HA! JRMRERAARR S 40, bm JE
AE 39.5m
e 6 1, 889, 160 11, 334, 960
SRS (C) A5HA! JRMREAAARR S 41 6m JE
AE 40.5m
e 12 2, 032, 280 24, 387, 360
SRS (D) A5HA! JRMREAAARR S 41 5m JE
AE 40.5m
e 12 2, 036, 880 24, 442, 560
SRS (E) A5HA! JRIREAAARR S 41. Om JE
AE 40.0m
e 32 2, 066, 000 66, 112, 000
SRS (F) A5HA! JRIREAAAR S 41. Om JE
AE 40.0m
e 32 2,071, 000 66, 272, 000
LR L
= 1 7,854
IR R L
= 1 7,854
E=UEVZUREY 18-8-40 (FF)  2v7)- M FIEI
e
15
m2 2 3,927 7, 854
fFHFE R T
= 1 389, 459
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
TAT 7V MG T
HLE AR (A)
= 1 118, 354
I & A (B ) FLE)T9vTy RC-30 41 0 JE 110
mm
m2 34 923 31, 382
e R GaE D) RIEEFIRE A M-30 {1 =V E 70
mm
m2 34 875 29, 750
FE (FaE - B PRI EET AT, (13) &H4EE 40m
m 3. Omtd
m2 34 1,683 57,222
TAT 7V MG T
HLE AR (B)
= 1 262, 548
FE (FaE - B PRI EET AT, (13) &H4EE 40m
m 3. Omtd
m2 156 1,683 262, 548
Pk T
= 1 8, 557
TR HEK
m 4 1,724 6, 896
25 H N HEAK
m 0. 5, 537 1,661
HEE L
= 1 121, 198
& B L T
= 1 100, 110
EEERR BT TAT 7V MEHZERR 15emBl
m 5 528 2, 640
LR TATWMIEERT 2SS 15embl
m2 190 513 97, 470
TEHRALEE T
= 1 21, 088
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
I TAT 7 Wbk
m3 8 1,461 11, 688
ALy TAT 7 bk
m3 8 1,175 9, 400
Gan
= 1 5,391, 421
THHER T
= 1 241, 555
- F - B T
= 1 908, 256
VESEY-D Hei T
= 1 4,072, 110
1R IE T
= 1 169, 500
B TR
= 1 212, 195, 727
MR E
= 1 18, 590, 610
B3 TS
= 1 4, 064, 610
TR
= 1 2,216, 610
TR AR T 3 1=
= 1 2, 162, 000
IR TR 10. 4t
= 1 54, 610
BIGREsET (K30
= 1 1, 848, 000
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
HIMGERE (FE L)
= 1 14, 526, 000
Wi
= 1 230, 786, 337
B
= 1 47, 533, 000
T AT
= 1 278, 319, 337
— R
= 1 32, 410, 663
TS
= 1 310, 730, 000
THEBLFH Y %H
= 1 31, 073, 000
TH#&G
= 1 341, 803, 000
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